PRESIDENCY UNIVERSITY, BENGALURU
SCHOOL OF ENGINEERING

” gt
Sfli BAELF & ML L
LA LATSTED HLIGH TS

Mlax Marks: 3 Max Tone: 55 Mins Weightape: 13 % Sel A
TEST 3
1} Semester 2016-2017 Course: MATH A 106 Differential FP Agml 2017

Eqguations & Foarier Scrics

-, EELL

Instrnctions:
i Wiale eribly
i, Seientific and non programmable caleulators are permitted

o AT R —_ —_—— L

. Part A
(2 Q) x 4 M~ (8 Matks)
d’y »
I. Solve; ——5% — ¥ = Xsinx.
adx
d*y )
- 2 - 2 .
4. Obtain the peneral solution of (1+x) 5+ (1+x)=—+ p = 2xin Hog(l+x}}.
clx oy
IPard 3
{2 Qx 6 M= 12 Marks)
dx . v
1. Solve: —F E'}’ = — S8l f, —=-— 2X = Cost
i df
d'y  dy ,
L4 4o By the method of variation of parameters solve ; —5 93— Lo p=e log x
" dx

Part C
(1 G % 10 M= 10 Marks)

_ d*y
Obtain the power series solulion of P +xp=A{)

L
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Max Marks: 30 Max Fime: 55 Ming Weightage: 15 % Set B
TEST 2
H Semester 20162017 Course: MATH A 106 Differentis] H) March 2017

Liguations & Fouricr Scirics

A ———
L m—————n

LIF

Instruciions:
1. Wrile legibly
ir,  Scientific and non programmabie calewlators are permitted

e

"art A
(3 Qx5 M= 09 Muiky)
Sy dvdy
1. Solve: =75 =< I —rﬂfx
dzy N ey
2

cfx 4 ::?;.x: +y =100y gel the peneral solufion.

3. Solve: (DE + 9]jf = §in 2x.,

4 2y =0,

A

Solve: 4

Pari B
(2 Qx6M=12 Marks)

4. A resisior of R = 10 ohms, an inductor of £ = 2 hemrics and a lattery of & vofts are connected in
series with & switch SO A7 = 0, the switeh 15 closed and the curvent £ = & Find the current J for § = it,

if (2} F =40 and (b) £ =207,
5. Solve (D7 —2D+ 1)y = x%e™,

H
Famr

Part (

{1 Qx 09 M= 09 Marks)

.
dy _dy e
6. Solve: e “‘6;}": T ::".5_}:’ =2t F8Inx+ X,

¥

Pape T of 1



o
s PRESIDENCY UNIVERSITY, BENGALURY
SCHOOL OF ENGINEERING

LA I S S TH RO R P AN Y
ViC ALK R STCF LT

MWhaw Mearks: 30 Max Thne: 58 Mins Weiphiage: 15 % Sei B

rgagn irya
ST
dL_= A,

il Semester 2H6-2017 Course: MATH A 1006 Bifferentiad 20 Tebrary 2017

Iiguations & Fourier Sevics

e e e e e P e b e e e e =4

----- -

Instructions:

T
:. P .'=
T
e

1,
il.

Wrile lepibly
scientific and non programmable calculatars are pennitied

Fart A
(3 Qx3 M= 09 Marks)
o {y? :
Solve the initial value prol¥em ;—'! s b x v 2y wih w0y =1
%
Obtam the general solution of the differential cquation 2xvdx + x%dy = ()

] i
Iind the solution ol a’;+ yep
' Y

Part B
{2 Q% 6 M= {2 Muarks)

av )
Solve: —+ylunx= ¥ secx,
dx

Salve the differential equation (x7 7 + xyv 4 Dy + {17 3y +1xdy =0

Part C
(1 Q x 09 M= (19 Marks)

{8} Slate law of growth and decay.
(b) The number N of bacleria in a culture grew at a rate proportional 1o N, The value of N was

imtially 100 and increased o 332 jn 1 hour. Whal was the value of N afler 1.5 and 3 hours?
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Max Marks: 30 Btax Timvae: 55 dling Woiphtape: 15 %5

TEST 2

Set A

I Semester 2016-2017 Course: MATH A 06 Differential

20 March 2017
Lguations & Fourier Series

ke

LT P A,

Enstroctions:
. Write leptbly

. Scientific and non programmabie calcufators ave permitted

nnnnnnn

LLE F I

H} Fari A
{30 x 3 =09 Marks}

ayv . d'v dy
L. Boblver —% - —+i=—8y=0

dx’ r’ dry

, &y dy 3
2. Obiain the pencrat solution of 5+ 4=~ 44y = ¢™,
de ok
3. Solve: (D -4)y=cosx,
Part B

{2050 W— 12 Murks)
4. Thud the orthoganal trajectorics of the family of curves "

= Cos A,
5. Solve (D' —4D+3)y =¢" cos 2w,

. ""l,,‘

art C
{1 Q x 09 M= 09 Marks)
&y . dy L
6. Sobver 53—+ 2= 2c08(2x +3)+ 2" + ",
dx dx
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Max Marks: 30 Max Time: 55 Ming Wotuhtape: 15 % Sel A
TEST 1

1 Semester 2016-2017 Course: MATH A 166 Differential 20 Febraury 2007
Lguations & Fourier Series

—_——————

Insiruciions:
b Write lepibly
H.  Scienific aod pon programmable caleufators are pormitied

Trari A
(3 O x 3 M= 09 Marks)
C ey iy . L
F. Salve the indial value problem ‘—j:ﬂ”"* s 1’ with w0} =1
X

2. Obtain the general sojution of the differential equation {{x +1e* —e* v = xetdy

- : (b
3. TFind the solution of == == 3"

dr  x

Pari T3
(2 Q% 6 M= 12 Marks)

dy x+y+d

4. Solve s
de  x-y-6H

5. Solve the differential equation (v + 23)dx + (xy + 23" ~ 4y = (0

Part C
(1 G x 09 M= 09 Marks)

6. (a) State Newlon’s law of cooling,

{(b) A metal ball is heated te a temperature of FOOC af time ¢ = 0 and it is paced in water which is
matimained wt 40°C. If lemperature of the ball is reduced to 60°C in 4 min, Find the time at which
ihe lemperature of the ball is S0°C.
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